
 

CR12 15 Tahoe and Yukon 1500 - 6 lug pattern.  2-flat clips #10001;  2-Plastic Spacer Brackets #10050 

Directions For The Installation of 2015-2020 
Tahoe / Yukon 1500, 6 Lug, Rear Drill-less Mudflaps 

Supplied Hardware:  
8-Stainless Steel Black Oxide (SSBO) 1/4-20 x 3/4” (SSBO) bolts;  12- (SSBO) washers, 4-SS Flange Nuts; 
4–(SSBO) 1/4-20 X 1 1/4” bolts, 2-flat clips #10001;  2-Plastic Spacer Brackets #10050  

 
NOTE:  As you progress with the install, check for mudflap to be square and plumb to the tire. 
              Thread locker is suggested to be used on all fasteners. 
 
Step 1:  Un package your new rear mud flaps.  Smooth side is rear side.  If applicable, Stainless Steel weights 
 face rearwards. 
Step 2:   Attach the flat clip to the back (smooth) side of the mud flap at Point “K”.  Slide the (SS) hex bolt thru 
 the (SS) larger inner diameter washer,  thru the tire side of the mud flap (side with grooves), thru  
 the flat clip with the bent edge toward the mud flap, and secure it with the (SS) flange nut. 
Step 2:  Remove the five factory screws in the fender well located at points “D,F,H and J”.  Save the screws. 
Step 3: Place the plastic spacer inside the wheel well as shown on the back using the factory screws through the 
 spacer and back into the factory holes. 
Step4: At point “A” there is a factory hole behind the optional liner.  Using a sharp tool such as an awl you will 
 need to puncture a hole in the lining for access to that hole. 
Step 5: Place your mud flap into the fender well and insert the supplied 1/4 x 20 x 3/4 SS bolts thru the supplied 
 washers the mud flap holes and into the pre tapped holes in the spacer at points “C,E,G and I”. 
Step 6: Place the supplied SS 1/4 X 20 X 1 1/4” hex bolt thru the supplied washer, thru the mud flap at point “A”, 
 thru the factory hole and secure it with the supplied flange nut. 
Step 7: Check the mud flap for vertical plumb alignment and tighten all bolts sufficiently being careful not to  
               over tighten. 
Step 8:   Slide the flat clip over the fender well liner to create a clamp that will grip the plastic inner fender liner 
 as you tighten the flange nut.  
 

Note:  Re check bolts every three months and retighten as needed. 
 
To keep your mud flap looking like new replace the moisture that the mud takes away with a leather or vinyl  
moisturizer, or inexpensive furniture polish at least twice a year.   
 
IF YOU HAVE ANY QUESTIONS OR CONCERNS PLEASE GIVE US A CALL AT 541-245-9148 



 

CR12 15 Tahoe and Yukon 1500 - 6 lug pattern.  2-flat clips #10001;  2-Plastic Spacer Brackets #10050 

K 

K 


